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| 1. (TY. Suppose that A, B, and C are events such that p(A) = p(B) = n(C)
=1/4: p(ANB)=p(BNC)=0, and p{ANC)=1/8 then the prcbabtlity that
at least one of the events A, B, or C OCCUT'S 18
@) /8 () 5/8 (c) 34 (A 1/2 (&) MLk - I
2. (7%,) Suppose that the random variable X has possible values 1, 2,
3+ and p(X=3) = ‘,’éi 3= 1, 2, 3,++ then p(X is even) = 7
@4 () 1/2 () 1/3 () 5/8 (&) MEWE

| 3. (18Y%,) (a) #H¥MHAMHAEFRBMREIE (Central Limit Theorem)? ‘
(b) #FHWMe\EHE (Control Chart) &9 K/FE
(¢) #HHBBAMAYT (a) # (b) &%

4, (187, wir@@odred, (1), #3332 B A 9L KR ERTY
(2). 4h¥fig b, B8 o RIRET
(3). SSR(C X, | X4)=2 ©ah & &AM B




